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1 —�En�Æl�cesto�A�·ay�ˆa�
≤itad�de�≤elocotø>eå�que�
Æn�Æl�B.�
—�En�Æl�cesto�C�·ay�Æl�dø<ˆe�
de�≤elocotø>eå�que�Æn��
Æl�B.
—�El�cesto�B�tiene�ocho�
≤elocotø>eå.

En�Æl���������·ay��������≤elocotø>eå.

En�Æl���������·ay��������≤elocotø>eå.

En�Æl���������·ay��������≤elocotø>eå.

¿Cuántøß�≤elocotø>eå�·ay�Æn�total?

2 ¿Cuál�Æå�Æl�∏eso�del�fiaco�∏ara�ÆquilibÁar�ˆa�
<alanza?

1

Respuesta 

Respuesta 

?



2

4 Una�gallina�tiene�a�fiu�alrededøÁ�fiuå�12�∏øˆlueløß.�
D±�Áepente�◊¤�que�ˆe�‡altan�4.
¿Cuántøß�∏øˆlueløß�quedan�˜unto�a�Ælla?
Operación.

Quedan
5 En�Ûna�„ø>a�del�„oo�·ay�12�˜irafaå,�18�Ælefan-
teå�Ë�22�ciervøß.�¿Cuántøß�animaleå�·ay?
Operación.

Respuesta
6 Dπß�agricultøÁeå�Áecogen�35�calabazaå�uno�Ë�47�
Æl�otro.�¿Cuántaå�calabazaå�máå�coge�Æl�fiegundo�
Œue�Æl�∏rimero?
Operación.

Respuesta

3 Cø≤pleta�Æl�texto�Ë�Áesuelv¤.
Una�<øˆsa�grande�tiene������aceitunaå�Ë�una�
∏equeña�fiÙøˆo�������.���
¿��������������������������������������������?
Operación.

39Ó26= aceitunaå.



∏áginaå.

7 Una�clase�de�1©�de�∏rimaria�tiene�25�alumnøß,�
otra�24�Ë�Ûna�tercera�21.
¿Cuántøß�alumnøß�·ay�Æn�Èotal�Æn�∏rimero?
Operación.

3

Hay
8 En�clase�ˆa�∏rø‡esøÁa�≤anda�ˆeer�a�Lucía�·asta�
ˆa�∏ágina�15.�Luego�fiigue�ˆeyendo�María�ocho�
∏áginaå.�¿Hasta�qué�∏ágina�·an�ˆlegado?
Operación.

Respuesta

9 Sı�Æl�ˆibÁo�Èiene�49�∏áginaå,�¿cuántaå�‡altan�
∏ara�acabar?
Operación.

10 En�una�∏ajarería�·ay�23�canariøß�y�42�∏eriqui-
tøß.�HøË�·an�>acido�18�canariøß.
¿Cuántøß�∏ájarøß�Èiene�ahøÁa�ˆa�∏ajarería?
Operación.

Respuesta
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11 En�un�Áestaurante�
cø≤en�37�∏ersø>aå�Ë�
cenan�12.
¿Cuándo�·ay�≤áå�
clienteå?
����cø≤ida�����cena
¿Cuántøß�clientes�·ay�
Æn�todo�Æl�flía?
����37����49����25
¿Cuántøß�clienteå�≤enøß�
·ay�Æn�ˆa�cena?

����25����12����49

Un�∏eriódico�tiene�·øË�64�∏áginaå�Ë�ayer�Èenía�
88.�¿Cuántaå�∏áginaå�≤áå�∏uedo�ˆeer�·øË�que�
ayer?
Operación.

S±ñala�ˆa�Áespuesta�ÂøÁrecta

12 Dπß�amigøß�cø≤en�18�
∏astaå�uno�Ë�12�otro.�
Quedan�Æn�ˆa�<andeja�
45.
¿Quién�cø≤e�≤áå?
����1©������2©

¿Cuántaå�∏astaå�≤enøß�
cø≤e�Æl�fiegundo?

����12����6�����45
¿Cuántaå�∏astaå�·abía�
Æn�total?
����75����57����30

4

Puedo�ˆeer

Operación.

14 Mi�∏adre�∏esa�88�˘iløß�despuéå�de�ÆngøÁdar�15.�
¿Cuántøß�˘iløß�∏esaba�anteå�de�ÆngøÁdar?

˘iløß



15 Anita�Æstá�ˆeyendo�un�ˆibÁo.�El�ˆuneå�ˆee�8�∏ági-
naå.�El�≤arteå�døß�∏áginaå�≤áå�que�Æl�ˆuneå.�
¿Cuántaå�∏áginaå�·a�ˆeído�Anita�Æn�løß�døß�díaå?
Operación.

5

∏áginaå.
16 En�un�·øÁmiguero�·ay�45�·øÁmigaå.�Trece�fle�
Ællaå�fialen�al�ÆxteriøÁ�a�<uscar�cø≤ida.
¿Cuántaå�quedan�dentro?
Operación.

¿Cuántøß�crø≤øß�tienen�Æntre�ˆøß�treå�>iñøß?

·øÁmigaå.
17

María Ana Vıcente
TengoTengo

Tengo�24�crø≤øß�
≤áå�que�Vıcente.

Yo�tengo�8�crø≤øß�
≤áå�que�María.

Tengo�ø>ce�
crø≤øß.
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18 Miguel�tiene�tantøß�crø≤øß�cø≤o�Ëo,�que�tengo�
fiiete.�¿Cuántøß�crø≤øß�tenemøß�Æntre�ˆøß�døß?
Operación.

Respuesta
19 Cø≤pleta�Æl�Èexto�Ë�Áesuelv¤.
S±�Åcerca�Æl�‚ato�a�un�grupo�de����∏alø≤aå�y�
fie�◊an���.
¿����������������������������������������?
Operación.

18—7=
∏alø≤aå.

20 El�≤eå�de�‡ebÁero�tiene�treå�díaå�≤enøß�que�Æl�
≤eå�anteriøÁ�Ë�que�Æl�≤eå�fiiguiente.
¿Cuántøß�díaå�tienen�Æntre�Ænero�Ë�‡ebÁero?
Operación.

¿Y�Æntre�Ænero�Ë�≤arzo?
Operación.

Respuesta

díaå.


